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Problem quickname: 7408
1)

Convert every improper fracton to a mixed number and every mixed number to an
improper fraction. Reduce the result to lowest terms.

a) 121 — 425021 _ 42 b) 447 — 422417 _ 105

¢) T8 = 416412 _ 412 43 d) 425 — 444425 _ 201
¢) 55 = 51166+5_%53 f) 87 = 21440 _ 99

2)

Convert every improper fracton to a mixed number and every mixed number to an
improper fraction. Reduce the result to lowest terms.

50 _ 41146 _ 4 6 3-33+10 _ 109
a) 17 = 11 =41 b) 333 — 33 T 33
45 _ 125420 _ 120 _ 14 5 _ 22045 _ 45 _ 9
) g5 = o5 = 1 =13 d) 295 = =55 =30 = 1
30 _ 21148 _ 8 159 _ 528+19 _ =19
) T = “q1 = 211 f) 35 = 55— = 933
26 246+26_@_@ 5 _ 32045 _ 65 _ 13
8)2% =" = 4 — 23 h) 355 = 50— =90 = 4
i) 410 _ 413+10 _ 62 ) 123 _ 130423 _ 53
3~ 13 ~— 13 J) Y30 = 730 T 30
3)
Convert these improper fractions to mixed numbers.. Reduce the result to lowest terms
27 _ 115412 _ 112 _ 14 19 _ 2843 3
a) i5_ 5 =115 =15 b) 5 8 23 . :
8 _ 5943 _ 3 _ g1 35 _ 119416 _ 116 18 _ 11147 _
c) g =g =55 =93 =" =1p e) 11 =~ = i1
12 _ 1844 _ 14 _ 11 49 _ 31447 _ 97 _ ol
=5 =13=13 ) 11 4 — 911 = 93
36 _ 31143 _ 93 21 _ 2943 _ 63 _ ol 48 _ 31349 _ 99
h) 77 = “57 - = 317 )9 ="9"=25=23 i3 =43 =313

4)

Convert these mixed numbers to improper fractions. Reduce the result to lowest terms.
12 _ 319412 _ 69 2 _ 1442 _ 6 _ 3

a) 319 9 ~— 19 b) 1% 1 1= 2
15 _ 118415 _ 33 __ 11 4946 _ 42 _ 14

Jlg="1 =K"= % >49 9 — 9~ 3

)48 — 41248 _ 56 _ 14 f)Qm 216410 __ 42 _ 21
12 — 12 — 12 7/ 3 16 — 16 — 16 — 8
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Solutions to smp-7408-1/WYXU

4 _ 21044 _ 24 _ 12 3 _ 51243 _ 63 _ 21
8 2;5="10 = 10— 3 h b5 =" =1% =17

11 _ 319+11 _ 68 6 _ 21846 _ 42 _ 7
)31 =" = 19 D25="5 " =15 =3
Good Luck!
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